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A S0 XIDt
mu: pE=x =7
el = AVENEE (FUHE2ISEI) EEED
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
WS Xl 2 260,528 248,044 12,484
ME=E=IN I3 260,528 248,044 12,484
= ANENEH(FUNE2IELESIA) 260,528 248,044 12,484
= - SX & 54,088 121,604 A67,516
201 L2 | 48,988 40,604 8,384
01 At 22|l 17,908 19,880 A1,972
SEHX U HAIRHY HIE P
100,000& *32/ * 174 5,100
XX MY E22 M
60,0003 63 * 174 6,120
oEXE B2l ARBE Y
85,000& *123] 1,020
oXglH ElH ¥ 340,000 *34 1,020
oF=ZX 2Bt WEHZE DKM MZ
80,0003 102t A %2 1,600
XA O ALEX I
8,000& *3H 102 2,448
oFHI NV (SRE) 22 II=t
300,000& x2H 600
02 2224l 31,080 20,724 10,356
o&XIeHHS, FEXES TV & 323
23,000 +630x 12& 17,388
oFHI /ALt MHIE SIRE 223
2,530 x40001 123 12,144
oFFI AUt NEIE LPRHE 22
4303 *3000H 12 1,548
202 Odt| 5,100 6,000 A900
01 =WO4bI 5,100 6,000 A900
onE=T Y2 =7
20,000 *3H 852 5,100
F=AE dX2Z 206,440 126,440 80,000
201 Lt | 46,440 46,440 0
01 At 22|l 15,000 15,000 0
o PAIFE 2R LX=2
15,000,000 * 10 2 15,000
02 2324l 31,440 31,440 0
oBYFIE AMEE KA
2,000,000& *57H 2= 10,000
o2 SYALA A IS
100,000& 122 1,200
oSEX SDXLA FHA MoteE 2
20,0002 128 240
oFFIHE AEMNE & A2
500, 000 *40JH A~ 20,000
401 AlEHIZ20HY| 160,000 80,000 80,000
01 Al&Hl 160,000 80,000 80,000
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H: ws=sA s
el = INENEE(FUHE2SSLEEA)

2 s IE]
SA - HY - S9I(3) - HIRAY - BAS ofl & e
CSIFIE AN 100,000,000 100,000
oZHFIE el 60,000,000 60,000
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